ELECTRIC 8s

P
L PA-1479 ON SALE NOW l
LOTTERY
E \_\-
A REVEAL AN" & " (EIGHT) SYMBOL, WIN PRIZE SHOWN UNDER THAT SYMBOL. Benerts ogzmy&mm
s CHANCES ARE CONSOLIDATED
WIN WITH: WIN: 1 IN_: w
E §2 $2 1154 $2=11.54
$2x2 $4 50.00
P $4 $4 75.00 $4.=30.00
o $5 $5 25.00 $5=125.00
$2x4 $8 150.00
s $4x2 58 150.00
'|' (52x2)+$4 58 100.00
$8 $8 75.00 $8=17.27
P $2x5 $10 375.00
(S4x2)+52 $10 375.00
|. $8+$2 $10 150.00
E $10 $10 750.00 $10=75.00
$2x10 $20 1,500
A $4x5 $20 1,500
s ($8x2)+($2x2) $20 1,500
(52 w/ 8X SYMBOL) + (52 x 2) $20 166.67
E $20 $20 1,500 $20=115.38
$8x5 $40 12,000
P (52 w/ 8K SYMBOL) x 2) + $8 $40 2,000
o ($4 w/ 8X SYMBOL) + (54 x 2) $40 2,000
$5 w/ 8X SYMBOL $40 2,000
s $40 $40 6,000 $40=571.43
'|' $8x 10 $80 12,000
(510 x4) +($5x 8) $80 12,000
P (55 w/ 8X SYMBOL) x 2 $80 3,000
$10 w/ 8X SYMBOL $80 2,000
|. $80 $80 12,000 $80=923.08
E $10x10 $100 24,000
(510x2) + (58 x 10) $100 24,000
A (155 w/ 8X SYMBOL) x 2) + (S8 x 2) + ($2x 2) $100 24,000
s (510 w/ 8X SYMBOL) + ($10x 2) $100 12,000
$100 $100 24,000 $100=4,000
E $80x5 $400 420,000
(520 w/ 8 SYMBOL) x 2) + (52 w/ 8X SYMBOL) x 5) $400 420,000
P (540 w/ 8K SYMBOL) + ($40 x 2) $400 420,000
o (540 w/ 8X SYMBOL) + ($10 w/ 8X SYMBOL) $400 420,000
$400 $400 420,000 $400 = 84,000
s $100x 10 $1,000 420,000
'|' $1,000 $1,000 420,000 $1,000 = 210,000
$18,000 $18,000 840,000 $18,000 = 840,000
REVEAL AN " 8 X " (8TIMES) SYMBOL, WIN 8 TIMES THE PRIZE SHOWN OVERALL CHANCES
UNDER THAT SYMBOL! OF WINNING: 1 in 4.51

Prizes, including top prizes, are subject to
availability at the time of purchase.




